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Section I  Structure and Vocabulary

In each question, decide which of the four choices given will most suitably complete the sentence if
inserted at the place marked. Put your choice. in the brackets on the left. (15 points)

EXAMPLE:

I was caught the rain yesterday.

[A] in

[B] by

[C] with

[D] at

ANSWER: [A]

1. The travellers sought shelter the rain and happened to find a roadside inn
[A] from
[B] by
[C] for
[D] with

2. To our delight, she quickly adapted herself the situation
[A] with
[B] to
[C] of

[D] into

3. The key success is hard work and persistence
[A] on
[B] for
[C] to
(D] of

4. ”Do you regret paying A five hundred dollars for the painting?”

”

“No, I would, gladly have paid for it.
[A] twice so much
[B] twice as much

[C] as much twice
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[D] so much twice

5. This pair of shoes isn’ t good, but that pair is better.
[A] rather
[B] less
[C] ever
[D] hardly
6. do we go for picnics

[A] Certainly
[B] Sometimes
[C] Seldom
[D] Once

7. Kunming is usually cool in the summer, but Shanghai
[A] is rarely
[B] scarcely is
[C] hardly is

[D] rarely is

8. A university is an educational institution which awards degrees and research.
[A] carries out
[B] carries through
[C] carries off

[D] carries about

9. On entering another country, a tourist will have to the Customs.
[A] pass through
[B] pass by
[C] pass over

[D] pass for

10. The old lady can’t hope to her cold in a few days
[A] get away
[B] get off
[C] get out

[D] get over

11. Will you my article to find out whether I’ ve made any mistakes?
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[A] look after
[B] look through
[C] look up

[D] look into

12. “Where should I send my application?”

”

“"The Personnel Office is the place
[A] to send it
[B] sent it to
[C] to send it to

[D] for sending it

13. David, something important has happened. I wish to
[A] talk it over with you
[B] talk over it
[C] talk over

[D] talk you over it

14. I was advised for reservations.
[A] to either telephone or to write the hotel
[B] either to telephone or to write the hotel
[C] that I should telephone or reither write the hotel

[D] I ought either to telephone or write the hotel

15. we have finished the course, we shall start doing more revision work.
[A] For now
[B] Since that
[C] Now that
[D] By now

Section II Cloze Test

For each numbered blank in the following passage there are four choices labeled A, B, C, and D. Choose
the best one and put your choice in the brackets below the passage. Read the whole passage before making
your choices. (10 points)

EXAMPLE:

For instance, the automobile tunnel might = huge ventilation problems.

[A] make

[B] bring
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[C] raise

[D] create

ANSWER: [D]

When I was about twelve, I suddenly developed a great passion 16 writing poetry. I gave up
all my other hobbies, such as 17 stamps, and spent all my 18 time reading poetry and writing
it. This habit of writing poetry on every possible 19 soon got me into trouble at school. If a

lesson did not interest me, I would take out my notebook and start writing poems in class. Of course I

did this very 20 , but it was not long before I got caught. One day while I was busy writing a poem

during a geography lesson, I looked up to find the teacher standing over me, fuming with anger because

I was not 21 attention. He tore the poem up, with a 22 not to waste time in his lesson

All the same I was convinced that I had written a good poem, so that evening I wrote it out again from

memory. Not long after, I read about a poetry contest and I decided to send in my poem. Weeks later, long

after I had given up hope, I got a letter informing me I had won first 23 . Everyone at school was
very impressed — except the geography teacher, who 24 me more carefully than ever. He was quite

_ 25 that I was not going to write poetry in his lesson!

16. [A] for
[B] in
[C] on
[D] at

17. [A] arranging
[B] collecting
[C] gathering

[D] keeping

18. [A] additional
[B] extra
[C] other

[D] spare

19. [A] chance
[B] moment

[C] occasion
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[D] time

20. [A] anxiously
[B] attentively
[C] cautiously
[D] silently

21. [A] calling
[B] devoting
[C] attracting

[D] paying

22. [A] warning
[B] notice
[C] word
[D] look

23. [A] position
[B] prize
[C] reward

[D] victory

24. [A] guarded
[B] inspected
[C] observed
[D] watched

25. [A] determined
[B] annoyed
[C] fixed

[D] assured
Section III Reading Comprehension

Each sentence or passage below is followed by four statements. One of the statements is a suggestion which
can be made from the information given in the original sentence or passage. Read them carefully and make

your choice. Put your choice in the brackets on the left. (10 points)

EXAMPLE :
[A] You should get up when he comes in.

[B] You should support him.
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[C] You shouldn’t be afraid to argue with him.

[D] You must be of the same height as he is
ANSWER: [B]

26. Watch your step when your turn comes to have an interview with the general manager.

[A] When you are asked to see the general manager, be sure not to step into his office without his

permission.
[B] Watch the steps when you go upstairs to see the general manager at his office.

[C] Be sure to be careful when it is your turn to go to the general manager’ s office for an interview
with him.

[D] Watch out and don’ t step into the general manager’ s office until it is your turn to have an interview
with him.

27. Since no additional fund is available, the extension of the building is out of the question.
[A] The extension of the building is impossible because we are unable to get extra fund for the purpose.
[B] There is some problem about the extension of the building owing to lack of fund.

[C] Since no additional fund is available, we have to solve the problem regarding the extension of

the building with our own resources.

[D] We can undertake the extension of the building even without additional fund. It is no problem
at all.

28. All along he has been striving not to fall short of his parents’ expectations.
[A] He has been trying hard all the time to live up to what his parents expect of him.
[B] His parents have been expecting him to work hard.

[C] All the time he has been trying hard to balance himself so as not to fall down as his parents
thought he would.

[D] All the time, as his parents expect him to do, he has been trying hard to save and not to be

short of money.

29. The various canals which drain away the excessive water have turned this piece of land into a highly

productive agricultural area.

[A] The canals have been used to water the land.

[B] The canals have been used to raise agricultural production.
[C] Excessive water has been helpful to agricultural production.

[D] The production has been mainly agricultural.

30. The replacement of man by machines has not led to unemployment. On the contrary, the total numbers
engaged in the textile industry have continued to rise. The fact should not be ignored by those who

maintain that unemployment and machinery are inseparable companions.

[A] The belief that the use of machinery causes unemployment is unfounded.
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[B] The use of machinery results in a rise in production.

[C] Many people lose their jobs when machines are introduced.

[D] Contrary to general belief, machinery and unemployment are inseparable companions.

Section IV Structure and Vocabulary

Fill in the blanks with the words which best complete the sentences. Put your choices in the brackets
on the left. (10 points)

EXAMPLE:

It was the largest experiment we have ever had; it six houses.

[A] ended

[B] finished

[C] was

[D] lasted

ANSWER: [D]

31. He thought the painting was of little , so he let me have it for only ten pounds.
[A] cost
[B] value
[C] price

[D] expenses

32. Tennis is a invented by an Englishman one hundred years ago
[A] game
(B] play
[C] contest

[D] match

33. It was with great delight that I read in your February the letter to the Editor written by

Prof. Johnson.
[A] issue

[B] printing
[C] magazine

[D] copy

34. The current political of our country is favourable for foreign investments
[A] climate
[B] weather

[C] temperature
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[D] state

35. Smith drove all the to Los Angeles and was just in time for the 23" Olympiad.
[A] way
[B] road
[C] journey

[D] trip

36. It’s a very popular play, and it would be wise to seats well in advance.
[A] book
[B] buy
[C] provide
[D] take

37. The children will not be allowed to come with us if they don’ t themselves
[A] guide
[B] behave
[C] act
[D] direct

38. The Customs officer didn’t bother to our luggage.
[A] control
[B] check
[C] ask

[D] glance

39. After a long walk on a hot day, one often feels
[A] exhaustive
[B] exhausting
[C] exhaust
[D] exhausted

40. What I am telling you is strictly . Don’t let anyone know of it.
[A] secretive
[B] special
[C] individual

[D] confidential
Section V  Error—detection and Correction
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Fach question consists of a sentence with four underlined parts (words or phrases). These parts are labeled
[A], [B], [C], and [D]. Choose the part of the sentence that is incorrect and put your choice in the brackets
on the left. Then, without altering the meaning of the sentence, write down the correct word or phrase

on the line following the brackets. (10 points)

EXAMPLE:

You’ ve to hurry up if you want to buy something because there’ s hardly something left.
A B C D

ANSWER: [C] anything

41. I'm sure Betsy is the very girl whom you will be glad to get acquainted to.

A B C D

42. Neither his training nor his experience as a railway engineer qualify him for his job.
A B C D

43. Under no circumstances we should do anything that will benefit ourselves but harm the interests of
A B C D

the state.

44, The dentist said that if my tooth went worse I should have to have it pull out.
A B C D

45, sitting up late last night, Tom not only read the assignment but also many poems by
A B C

one of his favourite poets
D

46. How I wish John knew how to apply grammatical rules properly and recognize the fact that he is nearly
A B C

always in the wrong.
D

47. The population of many metropolitan cities has more than doubled it in the past decade.
A B C D

48. Despite the temporary difficulties, the manager prefers increasing the output to decrease it
A B C D

49. Astronauts can be affected by loneliness. They may have to sit in the spacecraft for weeks with very
A B

little to do and no one to talk.
C D
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50. One of the articles is interesting, informative, and it is easy to read.
A B C D

Section VI Verb Forms

Fill in the blanks with the appropriate forms of verbs given in brackets. (10 points)

EXAMPLE:

It is highly desirable that a new president (appoint) for this college

ANSWER: (should) be appointed

51. I found that my cheating in yesterday’ s English test (report) to my parents that very evening.

52. While Jane

her skirt.

(carry) a pail of milk from the barn to the kitchen, she spilled some of it on

53. If it wasn't an accident, he (do) it on purpose

54. You’ re going to England next year. You should now practice (speak) English as much as possible.

55. When (see) through a telescope, the sun appears darker near the edge.

56. While he was in the army, he learned English, which (help) him a lot in his work there.

57. They were envious of George because of his ~ (make) captain of the team.

58. Many of the world’ s great novels are reported (make) into films last year.

59. When the bell sounded, the boys rushed out of the classroom, each (carry) a number of new

books under his arm.

60. The students (do) all the exercises, the teacher went on to explain the text.

Section VII Chinese-English Translation

Translate the following sentences into English. (15 points)

61. IR EURI Ik, ok,

62. WA IXHERATA REE L5 1 5eBERH A BARIKT

63. UM TPzt 4, HE T

64. (EIHFE, JULFBAHAPLasHE Tk, BEAHBR T T T .

65. AAEXJRAT PR AT W 4 At B R TIRZIET R
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Section VIII English-Chinese Translation

Choose either of the following two passages. Only the underlined sentences are to be translated. (20 points)

V)

Television is now playing a very important part in our life. But television, like other things, has

both advantages and disadvantages. Do the former outweigh the latter?

In the first place, television is not only a convenient source of entertainment, but also a

comparatively cheap one. (66) For a family of four, for example, it is more convenient as well as cheaper

to sit comfortably at home, with almost unlimited entertainment available, than to go out in search of

amusement elsewhere. (67) They do not have to pay for expensive seats at the theatre, the cinema, or the

opera, only to discover, perhaps, that the show is disappointing. (68) All they have to do is press a

button, and they can see plays, films, operas, and shows of every kind, not tomention political discussions

and the latest exciting football match. (69) Some people, however, maintain that this is precisely where

the danger lies. The television viewer takes no initiative. He makes no choice and exercises no judgment.

(70) He is completely passive and has everything presented to him without any effort on his part.

(71) Television, it is often said, keeps one informed about current events, allows one to follow the

latest developments in science and politics, and offers and endless series of programs which are both

instructive and entertaining. The most distant countries and the strangest custom are brought right into

one’ s sitting-room. (72) It could be argued that the radio performs this service just as well; but on

television everyvthing is much more living, much more real. Yet here again there a danger. We get so used

to looking at it, so dependent on its flickering pictures, that it begins to dominate our lives

There are many other arguments for and against television. The poor quality of its programs is often
criticized. But it is undoubtedly a great comfort to many lonely elderly people. And does it corrupt or
instruct our children? I think we must realize that television in itself is neither good nor bad. (73)

It is the uses to which it is put that determine its value to society.

(2)

An office is the "Brain” of a business. (74) In an office, figures, lists and information are compiled

which tell the managers or heads of the business what is happening in their shops or factories. These

figures guide the managers by telling them what has happened and what is happening.

Information comes into an office inall sorts of ways but the main items of information come in regularly.

(75) It is part of the job of the clerks to collect and classify that information and to put it into such

a form that it is easily interpreted and understood. Offices collect information then they classify it.

This work of collection is common in an office from the sorting of mail every morning to the accountant’ s

work in finding out the final figure for the year’s profit. (76) Classification always requires the

arrangement of the same kind of information, often into lists or columns. (77) For this work, correctness,

accuracy and speed, as in all office work, are essential.

There is no value, however, in collecting figures which mean nothing. Figures are guides which should

help we make decisions. (78) The interpretation of information and of tables should tell us where success

or failure lies, where profit can be had and where losses occur. (79) On this kind of information and

from the known figures, a choice is made and a series of such choices may make a policy.
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A firm which has three factories may find, for instance, from its figures, that one factory is losing

money and a choice may lie between either a change of manager, a cut in production, an increase in production
or closure of the factory. Whichever one of these decisions is taken becomes the policy. (80) It is clear

that a decision leading to a policy can only be as good as the information on which it is based.

Consequently there is a constant search for more and more exact information. (81) Managers will want

to have all the necessary facts before they can make the best decision and it is normal for them to seek

for more and more information.

ARG FEZEKEH L QQ Ff: 983277199 837961369 #ifs: KBXZI11 HiEEH LI IR—X—4iTs L RN &




AT REZKETHL QQH#E: 983277199 837961369 flfF: KBXZ111 HHFEHH IR —X—HiST =L HRB NG

1985 FEEMRIEEFTER
Section I: Structure and Vocabulary (15 points)
1. [A] 2. [B] 3. [C] 4. [B] 5. [D]
6. [C] 7. [D] 8. [A] 9. [A] 10. [D]
11. [B] 12. [C] 13. [A] 14. [B] 15. [C]

Section II: Cloze Test (10 points)

16. [A] 17. [B] 18. [D] 19. [C] 20. [C]

21. [D] 22. [A] 23. [B] 24. [D] 25. [A]

Section III: Reading Comprehension (10 points)

26. [C] [ 27. [A] [ 28. [A] [ 29. [B] [ 30. [A] |

Section IV: Structure and Vocabulary (10 points)

31. [B] 32. [A] 33. [A] 34. [A] 35. [A]

36. [A] 37. [B] 38. [B] 39. [D] 40. [D]

Section V: Error—-detection and Correction (10 points)

41. [D] with 42. [C] qualifies
43. [B] should we 44. [D] pulled

45. [B] read not only 46. [C] recognized
47. [C] doubled 48. [D] decreasing
49. [D] to talk to/with 50. [C] easy

Section VI: Verb Forms (10 points)

51. was reported / had been reported 52. was carrying

53. must have down 54. speaking

55. seen 56. helped

57. having been made / being made 58. to have been made
59. carrying 60. having done

Section VII: Chinese—English Translation (15 points)

61. Compared with the original one, this plan is far more complete.

62. Only in this way can we catch up with the world s advanced levels in science and technology.

63. Are you clear about what you should do next?

64. InoldChina, there was hardly any machine—building industry, to say nothing of an electronic industry.

65. What he saw and heard on his trip gave him a very deep impression.
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Section VIII: English—-Chinese Translation (20 points)

(1)

66.

67.

68.

69.

70.

71.

2.

73.

(2)

4.

75.

76.

7.

78.

79.

80.

81.

B, MF AR, SRR AR BYCE R, RS B LR BN E RIS H . X E RS )
fh s EHEMERSE, THENZ.

AT LA R R B F R, BRI BE S BAR R A RGR G RABATT R VRE 2 R BT 1T H AR AR EE .

AT A R A% — R AL, AR B AR RS ORI B SRR SN A A EOE AR A
BRILZAT KB O LR TR .

A, A NG 1R 2 B R T o
BN S B, e LA R I st e s IR & — AN H

MNATE UL, ALREAE — N XTI S T e, B TR A REGE T T B BT R . (RN G RER IR AN B UL
ARIRBEB AT A B SOUH AR SRR H

ARER A NIRRT i R R RE MR — L EERALGR E, A HARA NS, FNEsE.

AL A 2 O E IR T BRATERE XA E.

FERRER, MIEEFMEE. REMBEEE (EED Mg LAME LR 2 A T8 A ) 38 5T A A TR 3 5
B LT H AT IEAE R A S B o

HAGIAT R — M AR 55 e TR AR BURE (5D R E 0 S X e — A%, XM RAS E A2 I u R (5
B LT, 5T EMR.

PR TAFMA TR ER FRE R BORDIN VBB, AR R A R BT A

IR AR, BT R A S TAE—FE, IEEE. R EATE B b AT D 1

MERE (G2 FRRFTEIMRE, S AESS BA TR OS2 T AE 8 B aT AT B8R LR L B T 5 468
RIEIXFBRL (52D AR SR EdE, mUAEME b — Rk e, 10— R [ FE At RE TR B — TR 3
REAR, TR RIS RE IR, RBEBUR T ERMKIE 3R (52D IR .

LB E FEAEERE V)L EIHR G A ek MR EERI gE . XHbATRYL, ZRTB R Z KT (F

B RARIEFR.
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Section I  Structure and Vocabulary

In each question, decide which of the four choices given will most suitably complete the sentence if
inserted at the place marked. Put your choice. in the brackets on the left. (15 points)

EXAMPLE:

To test his theory, the scientist set an experiment

(A] up

[B] out

[C] upon

[D] forth

ANSWER:  [A]

1. I was caught the rain yesterday.
[A] in
[B] by
[C] with
[D] at

2. 1 promise to look the matter as soon as I get back to the head office.
[A] into
[B] for
[C] in
[D] after

3. They left prior our arrival.
[A] at
[B] to
[C] by
(D] of

4. The teacher has repeatedly reminded him it.
[A] of
[B] for
[C] with
[D] to
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5. He is indifferent hardships and dangers.
[A] of
[B] at
[C] in
[D] to

6. During that hard winter, the workers in Detroit went strike
[A] into
[B] in
[C] on
[D] to

7. John did it his will.
[A] at
[B] in
[C] to

[D] against

8. Come and see me whenever
[A] you are convenient
[B] you will be convenient
[C] it is convenient to you

[D] it will be convenient to you

9. This girl is Mary s cousin.
[A] pretty little Swedish
[B] Swedish little pretty
[C] Swedish pretty little

[D] little pretty Swedish

10. It isn’t quite that he will be present at the meeting.
[A] sure
[B] right
[C] certain

[D] exact

11. Why is there traffic on the streets in February than in May?
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12.

13.

14.

15.

16.

17.

[A] less
[B] fewer
[C] few
[D] little

I should like to rent a house, modern, comfortable and in a quiet environment.
[A] before all

[B] first of all

[C] after all

[D] above all

His few personal belongings make it possible for him to move from place to place
[A] in ease

[B] at ease

[C] with ease

[D] with easiness

Let us try to use our intellect to
[A] the fullest benefit

[B] the best use

[C] the highest profit

[D] the greatest advantage

They did not find to prepare for the worst conditions they might meet.
[A] worth their while

[B] it worthwhile

[C] it worth

[D] it worthy

You will soon this climate and then the changes in temperature will not affect you.
[A] get used to

[B] get to

[C] get over

[D] get on with

Water, when boiled, always Stream.
[A] gives in
[B] gives out

[C] gives off
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18.

19.

20.

21.

22.

23.

24.

[D] gives away

Their plans for a big party
[A] fell out

[B] fell away

[C] fell off

[D] fell through

Badly beaten, the intruders in disorder
[A] fell of

[B] fell out

[C] fell back

[D] fell away

The picnic at last after being twice postponed.
[A] came off

[B] came up

[C] put on

[D] went on

Very few experts with completely new answers to the world s economic problems.
[A] come to

[B] come round

[C] come up

[D] come on

His face gave him when he told a lie
[A] off

[B] away

(C] up

[D] out

Someone must have left the tap on, the water was running over and flooding the bathroom.
[A] therefore

[B] for

[C] nevertheless

[D] moreover

If that idea was wrong, the project is bound to fail, good all the other ideas might be.
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25.

26.

27.

28.

29.

30.

[A] whatever
[B] though
[C] whatsoever

[D] however

Take an umbrella with you in case of
[A] it rains

[B] the rain

[C] rain

[D] raining

The man over there is
[A] no other but

[B] no other than

[C] no one than

[D] none other than

The football match was televised
[A] alive

(B] life

[C] live

[D] lively

The size of the audience
[A] whom

[B] who

[C] as

(D] that

The Chinese Red Cross
[A] assigned

[B] contributed

[C] furnished

[D] administered

our principal.

from the Workers’ Stadium.

we had expected, was well over one thousand.

a generous sum to the relief of the physically disabled.

my car is being made ready for a long journey.

[A] In the moment
[B] At the moment

[C] For the moment
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[D] By the moment

Section II Cloze Test

For each numbered blank in the following passage there are four choices labeled A, B, C, and D. Choose
the best one and put your choice in the brackets below the passage. Read the whole passage before making
your choices. (10 points)

EXAMPLE:

Hot metal as it grows cooler.

[A] condenses

[B] reduces

[C] decreases

[D] contracts

ANSWER: [D]

Ventilation, as we know, is a system or means of providing fresh air. It plays a very important part

in the field of engineering. For instance, the automobile tunnel might 31 huge ventilation problems.
Even in the days of smoky, coal-burning 32 , trains made their own ventilation by pushing and
33

pulling air the tunnels. Cars don’t move their own spent gases in the same way; it collects

in tunnels. Clifford M. Holland solved the problem 34 a giant fan—driven system for the Hudson

River tunnel.

Holland s system received a severe 39 when a truck 36 with chemical substances caught
fire in the tunnel and exploded. The blast destroyed many automobiles; sixty persons were 37 by
the strong smelling smoke. All sixty, however, remained 38 after the explosion. 39 the ruin

of 500 feet of the tunnel roof, traffic 40 after only fifty—six hours

31. [A] make
[B] bring
[C] raise

[D] create

32. [A] stoves
[B] burners
[C] boilers

[D] engines
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33.

34.

35.

36.

37.

38.

39.

40.

[A] around

[B] through
[C] in

[D] within

[A] by
[B] with
[C] for
[D] of

[A] trial
[B] pressure
[C] examination

[D] test

[A] loaded
[B] carried
[C] crowded

[D] transported

[A] swept

[B] overcome
[C] hit

(D] hurt

[A] alive
[B] living
[C] live
(D] lived

[A] With
[B] After
[C] Because of

[D] Despite

[A] resumed
[B] stopped
[C] moved

[D] started
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Section III Reading Comprehension

Each sentence or passage below is followed by four statements. One of the statements is a suggestion which
can be made from the information given in the original sentence or passage. Read them carefully and make

your choice. Put your choice in the brackets on the left. (10 points)

EXAMPLE:

Dr. Smith made a long speech in which he implied that he was a friend of the Dean’s
[A] Dr. Smith was not a friend of the Dean’s

[B] Dr. Smith gave a talk in which he said he was a friend of the Dean’s.

[C] Dr. Smith suggested in his speech that he was a friend of the Dean’s.

[D] Dr. Smith made a moving speech in which he said he was a friend of the Dean’s.

ANSWER: [C]

41. T find it difficult to drive home my point to the students
[A] I find it difficult to make my point fully understood by my students
[B] I find it difficult to drive my students home.
[C] I want to point out that it is difficult to give my students lessons on driving.

[D] My point is driving is especially difficult for my students.

42. You ought to stand up for him.
[A] You should get up when he comes in.
[B] You should support him.
[C] You shouldn’t be afraid to argue with him.

[D] You must be of the same height as he is

43. She took great pains to keep the rooms tidy.
[A] She was in great pain when she tried to keep the rooms tidy.
[B] She found it difficult to keep the rooms tidy.
[C] She made great efforts to keep the rooms neat and clean.

[D] She was unwilling to keep the rooms tidy.

44, At first everything went well with the project but recently problems kept cropping up.
[A] At first the quality of the project was satisfactory but recently its quality kept declining.

[B] The project proceeded smoothly at first but lately unexpected problems continually made their

appearance.
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[C] At first the operation of the project went on smoothly, but lately something went wrong with

its operation.

[D] At first the project was thought to be satisfactory, but recently people found that there were
actually lots of problems with the project

45. The search for ways of preserving foods is not new. Primitive man learned that he could make foods
last by drying them. The greatest single advance began in 1800 when a Frenchman, Nicolas Appert,
discovered that he could preserve certain foods by sealing them in jars and keeping the air from them.

The process was the start of the vast canning industry which brings us many foods in all seasons.

[A] Nicolas Appert’ s most important contribution to canning industry is his discovery that air causes

food to spoil.
[B] Nicolas Appert was the first person to preserve foods in jars
[C] Nicolas Appert learned from the primitive men the method of preserving food.

[D] To preserve foods Nicolas Appert put them into sealed jars to let them dry up.
Section IV Structure and Vocabulary

Fill in the blanks with the words which best complete the sentences. Put your choices in the brackets
on the left. (10 points)

EXAMPLE:

The photo happy memories of my early childhood.

[A] refreshes

[B] brings to mind

[C] stimulates

[D] reminds myself

ANSWER: [B]

46. It was the largest experiment we have ever had; it six hours.
[A] ended
[B] finished
[C] was
[D] lasted

47. The gloves were really too small, and it was only by them that I managed to get them on.
[A] spreading
[B] squeezing
[C] extending

[D] stretching

48. Although the false banknotes fooled many people, they did not close examination.
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49.

50.

51.

52.

53.

54.

(A] put up
[B] keep up
[C] stand up to
[D] look up to

Today, housework has been made much easier by electrical

[A] facilities
[B] appliances
[C] instruments

[D] equipment

Charles has not the least
[A] intention

[B] idea

[C] play

[D] desire

of giving up his research.

That shop doesn’ t have brown sugar in at the moment, but they expect to have some tomorrow.

[A] storage
[B] stock
[C] sale
[D] demand

The country has a system of

[A] watercourses
[B] rivers

[C] canals

[D] channels

, most of which date back to the nineteenth century.

The farmers had to wear heavy boots in the winter because the fields were so wet and .

[A] dusty
[B] earthy
[C] soiled
[D] muddy

My brother likes eating very much but he isn’t very about the food he eats

[A] special
[B] peculiar

[C] particular
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55.

[D] unusual

This is the piano on which the composer created some of his greatest works
[A] actual

[B] genuine

[C] real

[D] original

Section V  Error—detection and Correction

Each question consists of a sentence with four underlined parts (words or phrases). These parts are labeled

[A], [B], [C], and [D]. Choose the part of the sentence that is incorrect and put your choice in the brackets

on the left. Then, without altering the meaning of the sentence, write down the correct word or phrase

on the line following the brackets. (10 points)

56.

57.

58.

59.

60.

61.

EXAMPLE:

Good manners should be observed whether one eats in a restaurant or in home.

n
A B C D
ANSWER: [D] at

One should not talk about unpleasant subjects for a social gathering. Also, we should avoid any subject
A B

that might hurt the feelings of the people you are with.
C D

When we sit at the table, we must wait for everyone before start eating. Sometimes you have to wait
A B C

until the head of the family begins eating.
D

Bob has sat at the table for a couple of hours and drank considerably more wine than is good for his
A B C D

health.

If you had gone there to see the match, I'm sure you would have enjoved to see the Chinese Football
A B C

Team win.

D

The flour, eggs and milk should be well mixed as it is poured into the baking pan.
A B C D

The names Jimmy, Billy and Bobby end in’y are used especially for children, but they often continue
A B
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into adult life.
D

(@)

62. This book costs me five yuan. As you have been a good friend to me, you may borrow my book as far as
A B C

you keep it clean.
D

63. Of all the works of art shown in this exhibition hall the thing I like more is the needle-work
A B C

produced by the workers of Shanghai.
D

64. Because some of the representatives still not there, the conference is put off until further notice.
A B C D

65. You ve to hurry up if you want to buy something because there’s hardly something left.
A B C D

Section VI Verb Forms

Fill in the blanks with the appropriate forms of verbs given in brackets. (10 points)

EXAMPLE:

Now our daughter is sitting next to Doris. At this time tomorrow she (sit) next to Betty.

ANSWER: will be sitting

66. A: Is your new bus going 0.K.?

B: Oh yes. Couldn’ t be better. It’s the first minibus we
with it.

~ (have) and we’re all quite satisfied

67. You haven’ t learnt the word-order in spoken questions yet but I’m sure you (learn) it before
the end of this week.

68. Our guest no sooner (take) off his raincoat than it began to rain again.

69. It is highly desirable that a new president (appoint) for this college.

70. (meet) with an accident, the newspaper correspondent was not able to send a cable

71. That bad egg wore dark glasses to avoid (recognize)
72. Rather than (leave) everything to the last minute, he always prefers to start early.
73. Don’ t come today, I would rather you (come) tomorrow.
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74. Sammy looks as though he never (get) a square meal, but in fact his parents feed him very
well.
75. If I had a bike, I (lend) it to you yesterday.

Section VII Chinese-English Translation

Translate the following sentences into English. (15 points)

76. FE A AR BEIEOR Y N RIEAR IS B 8T — R L

77 P, BIHBTNIE, KRR AR B R BRI T %

78. FEERFASEORKE K, BTSN CBORER 2 AR S A R A5 BN

79. EERARRERIT, T TRES TRERE TR

80. TEFRATM TAEH RMOZ HH, HIRMILARER M A e o
Section VIII English-Chinese Translation

Choose either of the following two passages. Only the underlined sentences are to be translated. (20 points)

1)

(81) Electricity is such a part of our everyday lives and so much taken for granted nowadays that

we rarely think twice when we switch on the light or turn on the radio. At night, roads are brightly lit

enabling people and traffic to move freely. Neon lighting used in advertising has become part of the
character of every modern city. In the home, many labour-saving devices are powered by electricity. (82)

Even when we turn off the bedside lamp and are fat asleep, electricity is working for us, driving our

refrigerators, heating our water, or keeping our rooms air—conditioned. Every day, trains, trolley-buses,

and trams take us to and from work. (83) We rarely bother to consider why or how they run until something

goes wrong.

One summer something did go wrong with the power plant that provides New York with electricity. For
a great many hours, life came almost to a standstill. Trains refused to move and the people in them sat

in the dark, powerless to do anything; (84) lifts stopped working, so that even if vou were lucky enough

not to be trapped between two floors, yvou had the unpleasant task of finding vour way down hundreds of

flights of stairs. Famous streets like Broadway and Fifth Avenue in an instant became as gloomy and

uninviting as the most remote back streets. (85) People were afraid to leave their houses, for although

the police had been ordered to stand by in case of emergency, they were just as confused and helpless

as _anybody else.

Meanwhile, similar disorder prevailed in the home. New York can be stifling in the summer and this
year was no exception. Cool, air—conditioned apartments became furnaces. Food went bad in refrigerators.

Cakes and joints of meat remained uncooked in cooling ovens. (86) People sat impatient and frightened

in the dark as if an unseen enemy had landed from Mars. (87) One of the strange things that occurred during

the power—cut was that some fifty blind people lead many sighted workers home. (88) When the lights came
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on again, hardly a person in the city can have turned on a switch without reflecting how great a servant

he had at his fingertips.

(2)

A mineral is a material that is mined, not grown. (89) In other words mineral substances which are

found on the earth must be extracted by digging, boring holes, artificial explosions, or similar operations

which make themavailable to us. Some minerals, for example coal and 0oil, were originally living substances;

others, like iron, never had life. (90) Coal and oil are the remains of plants and animals. Crude mineral

ores and crude oil must be purified before they can be used.

(91) A stage in human civilization is often called by the name of the substance mainly used at that

stage: the Stone Age, the Iron Age, and so on. The level of civilization reached by a society depends

on the materials it can use, not only on those which are available. (92) The capacity to use a raw material

depends on various factors, such as means of access, methods of extraction, and techniques of processing.

In order to be purified, or combined into alloys, metals must be melted. For this purpose they must be
placed in containers which can be heated to enormous temperatures. These containers or enclosed spaces

are called furnaces. (93) Plants which refine crude ores are often located in countries other than those

in which the crude ores are mined.

Although much was known previously about the chemical properties of aluminum and their application

to practical uses, (94) it was not until sixty yvears ago that a method of extracting aluminum ore was

found which could lead to a cheap large—scale process.

(95) In the past few decades men behaved as if their supplies of minerals were inexhaustible. (96)

But now it is realized that supplies of some of themare limited, and it is even possible to give a reasonable

estimate of their “expectation of life,” the time it will take to exhaust all known sources and reserves

of these materials.

But in the case of minerals it is especially difficult to.give a reliable estimate of reserves because
surveys have not been completed and it is not certain that all sources are known. Uranium provides a good

example of this fact
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1984 FEEMIIEEBER
Section I: Structure and Vocabulary (15 points)
1. [A] 2. [A] 3. [B] [A] 5. [D]
6. [C] 7. [D] 8. [C] . [A] 10. [C]
11. [A] 12. [D] 13. [C] 14. [D] 15. [B]
16. [A] 17. [c] 18. [D] 19. [C] 20. [A]
21. [D] 22. [B] 23. [B] 24. [D] 25. [C]
26. [D] 27. [C] 28. [C] 29. [B] 30. [B]
Section II: Cloze Test (10 points)
31. [D] 32. [D] 33. [B] 34. [B] 35. [D]
36. [A] 37. [B] 38. [A] 39. [D] 40. [A]
Section III: Reading Comprehension (10 points)
41. [A] [ 42. [B] [ 43. IC] | 44. [B] [ 45. [A]
Section IV: Structure and Vocabulary (10 points)
46. [D] 47. [D] 48. [C] 49. [B] 50. [A]
51. [B] 52. [C] 53. [D] 54. [C] 55. [A]

Section V: Error—-detection and Correction (10 points)

56. [A] at 57. [B] we start
58. [B] drunk 49. [C] seeing
60. [C] before 61. [A] ending
62. [C] as long as 63. [B] most

64. [A] with 65. [C] anything

Section VI: Verb Forms (10 points)

66. have had 67. will have learned

68. had -+ taken 69. (should) be appointed
70. Having met 71. being recognized

72. leave 73. came

74. got 75. would have lent

Section VII: Chinese—English Translation (15 points)

76. The wish of fully utilizing the natural resources for the benefit of mankind will eventually come
true.
this is the best program they can conceive of so far.

77. To my knowledge,

78. With the popularization of science and technology, computer has found an increasingly wide application
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79.

80.

in all fields

Through and intensive investigation they have finally obtained abundant first—hand information

In our work it’ s nothing unusual to be confronted with failures but we should in no way be discouraged

on that account.

Section VIII: English—-Chinese Translation (20 points)

(1)

81.

82.

83.

84.

85.

86.

87.

88.

(2)

89.

90.

91.

92.

93.

FLAEFRATH H A0 BT o AR XA A B, i HIAE NATIE VA B 58 A A AR S, T AFRATIHE
TFHAT BOFICE HUN SR Dl R B R B2 KN,

RS AE AT O T R SRAT VR IR IR E NI 2 I, At AE A BAT LA, e ATk, RATBERK B 3A1 55
] B S PRI %

R B ZAT, BATRA S ERWAE— el a2 s BRI 3.

RS 1, DR BR R 1 AT i R AE MR R B R ], AR AR 2558 s — AN PR AUAE 55 BN BRAE N AEJLE
HER -

GBSO G2, BARFHER DINAT R SF 0L, EANTERAH], FOvER M R AR AT A — R
BIAFAPTIEAICHEN TT

MMEEA R BB R, R — ZREKENBEN LRI CE LT HER,

e IR A CE R A th A X R R R TR E AR 2 AR AT, AT R R

AT R, SRR NAER AT T R 20, JUTFBCE — D AP — R, B #eeE — 2 AR THA
R A R 5578

52, WY RAAAE TR B Has A id 29 . Bl AN THRE RS EL A BETRAS I ot

Bt 2 A NSNS A o TR A R JER 06 20000 LUK ok 4 RE A T o

NSRS IR 28 I 38 R AR MATIAE 28 Ik 300 ol 5 A Y (R W SR A4 AR T i 44 1, e s b 4GS BRER I AR,

Jaragarey
SF=Fo

i ERH BE N IGR T2 R R R, B, SREUSURH T B, RIS TR .

SERIEA AR 55 e A 38 AN BEAE TR SR A 1R L 5 i B HLA L 5K
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94. EEDNHEIAMIA K —FIFRET A HITTE, AT BEM DR —FRRARAR . KSR R R %
95. EERJLHER, AMIXAFT WIS ER: Db Ta] LUK A B bG8 P4 .

96. HRBAEMATIRE], AT Sy M Ans R RA PRI, AT 200 2 nT B A BbAL T X S8 4y« n] B AE
ZEY, WU, SO )E, XU YR S EE T N 2R R A
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1983 EEEM L RENEG —FHIE R B

Section I  Structure and Vocabulary

In each question, decide which of the four choices given will most suitably complete the sentence if
inserted at the place marked. Circle the letter before your choice. Only one choice is to be circled (10
points)

EXAMPLE:

Tom has been unemployed he lost his job three weeks ago

[A] after
[B] since
[C] before
(D] while
ANSWER: [B]

1. born in Chicago, the author is most famous for his stories about New York City.
[A] Although
[B] Since
[C] As
[D] When

2. Allen and I are in the same history class, but his assignment is different mine
[A] with
[B] from
[C] against
[D] to

3. They have all got up, and .
[A] Jack has too
[B] so has Jack
[C] Jack hasn’t
[D] also has Jack

4. I am sure that you said is wrong
[A] which
(B] all
[C] this
[D] what
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5. four years since John left school.
[A] They have been
[B] It is
[C] Tt was
[D] Those are

6. 1 have been to the doctor’s about my headache. He says there is
[A] something serious
[B] anything serious
[C] not serious

[D] nothing serious

7. This bicycle is his, not
[A] their
[B] hers
[C] her

[D] your

8. A good writer is who can express the commonplace in an uncommon way
[A] that
[B] he
[C] one
[D] this

9. Those are very pleasant rooms. How much do you them?
[A] want
[B] demand
[C] ask for
[D] ask

10. His honesty is : nobody can doubt it
[A] in question
[B] out of the question
[C] beside the question

[D] without question
Section II Verb Forms

Fill in the blanks with the appropriate forms of verbs given in brackets. (10 points)
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EXAMPLE:

Will you call them up and tell them we’ 11 start as soon as the rain

ANSWER: stops

11. He tried to avoid (answer) my questions

12. (complete) one task, we started on another one.

13. I wish you ~ (not hurt) Jim so much. He is still very depressed.

14. In recent years a number of communications satellites (put) into orbit about the earth.

15. She sat at the window (read) a novel.

16. If you had spoken clearly, you ~ (understand).

17. We think this house is worth (renovate).

18. Don’ t get your schedule (change) ; stay with us in this class.

19. I’ ve got a loaf of bread; now I'm looking for a knife (cut) it with.

20. There’s no use ~ (cry) over spilt milk.

Section III Error—-detection

Fach question consists of a sentence with four underlined parts (words or phrases). These parts are labeled
[A], [B], [C], and [D]. Choose the part of the sentence that is incorrect, and circle the letter of your
choice. If you find no mistakes in a sentence, circle the letter E for "No Error”. Only one choice is

to be circled. (10 points)

EXAMPLE:

in safety precautions. No Error

1) The plant manager, like many workers, were very experienced in
A B C D E

ANSWER: [B]

2) To comprehend well, a student must read frequently. No Error
A C D E

oo

ANSWER: [E]

21. Because of an election was in progress, voters from all walks of life were heatedly. No Error
A B C D E

22. 1 move that he is to be discharged for his serious mistake. No Error
A B C D E
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Some adult novels have been adopted for young readers. No Error
B C D E

23.

=

24. A number of errors made by him was suprising. No Error
A B C D E

25. This article deals with the natural phenomenon which are most interesting to everyone. No Error
A B C D E

26. Often did we ask her not to be late for school. No Error
A B C D E

27. The sun warms the earth, this makes it possible for plants to grow. No Error
A B C D E

28. Of the best of my knowledge, he did very well in his previous job. No Error

of n
A B C D E

29. While walking along the street early in the morning, he heard someone crying. No Error
A B C D E

30. When you make a decision, you must take everything in account. No Error
A B C D E

Section IV Cloze Test

For each numbered blank in the following passage there are four choices labeled A, B, C, and D. Choose

the correct one and circle the letter before your choice. Only one choice is to be circled. (10 points)

EXAMPLE:

Bill came to work at the University thirty years today.
[A] since

[B] before

[C] from

[D] ago

ANSWER: [D]

In the 20" century chemists have learned to make 31 of new compounds that never existed

32 Many of them are useful to industry. Industry also found new uses 33 old, well-known

3% such as mercury, arsenic, and lead. We have learned to use radioactive substances in

manufacturing electrical power, and some materials used in medicine. Many of these substances are poisonous

to people. Accidentally or 35 purpose, many of them are discharged into streams and lakes. Birds
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and fish are killed by them. In some 36 people have been killed or 37 by them. In some

countries, many people were killed by eating fish that had lived in water contaminated with mercury;

_ 38  others were crippled 39 1life. There is no solution at present 40 the problem

of water pollution by many different kinds of industrial wastes. Ideally, all the wastes should be collected
and used again.

31. [A] the thousand
[B] thousands
[C] a thousand

[D] one thousand

32. [A] earlier
[B] early
[C] ago
[D] before

33. [A] for
[B] to
[C] of
[D] with

34. [A] things
[B] matters
[C] substances

[D] materials

35. [A] in
[B] with
[C] on
[D] for

36. [A] cases
[B] conditions
[C] situations

[D] environments

37. [A] got sick
[B] fell sick
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[C] became sick

[D] made sick

38. [A] more
[B] still
[C] the

[D] most

39. [A] in
[B] of
[C] for
(D] by

40. [A] of
(B] in
[C] about
[D] to

Section V  Reading Comprehension

Each sentence below is followed by four statements. One of the statements is a suggestion which can be
made from the information given in the original sentence. Read the sentences carefully and circle your

choice. Only one choice is to be circled. (10 points)

EXAMPLE:

What is most obvious in this book are'all those details of daily living which make Mrs. Richards anything
but common.

[A] Mrs. Richards is very obvious.

[B] Mrs. Richards is an unusual person.

[C] Mrs. Richards is anything she wants to be.
[D] Mrs. Richards is quite ordinary.

ANSWER: [B]

41. Dr. Smith made a long speech in which he implied that he was a friend of the Dean’s
[A] Dr. Smith was not a friend of the Dean’ s
[B] Dr. Smith gave a talk in which he said he was a friend of the Dean’s.
[C] Dr. Smith suggested in his speech that he was a friend of the Dean’s.

[D] Dr. Smith made a moving speech in which he said that he was a friend of the Dean’s.

42. Reading between the lines, I should say the scientists are disappointed at the outcome of the research

project, though they will not openly admit it
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[A] The scientists admit that their research project is a failure.
[B] The scientists are not satisfied with the outcome of the research project
[C] The scientists deny that the outcome of the research project is a failure.

[D] The outcome of the research project is not a failure.

43. John and I did not see each other very often, but whenever I was in trouble he always came to me and
offered his help.

[A] T was often in trouble
[B] John was a true friend of mine
[C] John came to see me only when I was in trouble

[D] Time and again John came to my help.

44. When he entered the room, we all stopped talking and glanced at each other uneasily.
[A] We were all afraid of him.
[B] We all respected him.
[C] He was a friend of ours

[D] He was an opponent to all of us.

45. It is a tale which holds children from play, and old men from the chimney corner.
[A] The children are player.
[B] The story is fascinating.
[C] The old men are sitting near the chimney corner.

[D] The tale is about children and old men.
Section VI Structure and Vocabulary

Fill in the blanks with the words which best complete the meaning of the sentences. (10 points)

EXAMPLE :

If the teams were not so evenly matched, it would be easier to the outcome
[A] precede

[B] expect

[C] foretell

[D] count

ANSWER: [C]

46. The twins are so much that it is difficult to tell one from the other.
[A] similar
[B] equal

[C] like
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47.

48.

49.

50.

51.

52.

53.

[D] alike

The photo happy memories of my early childhood.
[A] refreshed

[B] brings to mind

[C] stimulates

[D] reminds myself

This album is as it was the only one ever signed by the President
[A] unusual

[B] unique

[C] rare

[D] singular

The firemen managed to the fire in time
[A] extinguish

[B] prevent

[C] stop

[D] suppress

I believe reserves of coal here are to last for fifty years
[A] sufficient

[B] efficient

[C] persistent

[D] rich

This room is partly with a few old armchairs.
[A] provided

[B] decorated

[C] beautified

[D] furnished

Henry’ s news report covering the conference was so that nothing had been omitted
[A] clear

[B] integrated

[C] comprehensive

[D] understandable

These plastic flowers look so that many people think they are real.
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[A] beautiful
[B] natural
[C] comparable

[D] similar

54. We are now a new English—Chinese dictionary.
[A] composing
[B] writing
[C] compiling

[D] creating

55. The students their thanks to Professor Davis by presenting him with a parting gift
[A] revealed
[B] expressed
[C] showed
[D] said

Section VII Chinese-English Translation

Translate the following sentences into English. (15 points)

56. FA A ZANIA BT .

57. fEZIMH MR —i)s, FAITA W E a1 E .

58. FRATR = A a1 € A 55

59, FRATIXS A A L 17 L) 7 AR O R

60. FATER G HE AR K&, (HRAFRATE L EAKEE A SR SZHIAN AR .
Section VIII English—Chinese Translation

Choose either of the following two passages and translate it into Chinese. (25 points)

(1)

Let us suppose that you are in the position of a parent. Would you allow your children to read any
book they wanted to without first checking its contents? Would you take your children to see any film

without first finding out whether it is suitable for them? If your answer to these questions is ‘yes’

then you are just plain irresponsible. If your answer is ‘no’ , then you are exercising your right as
a parent to protect your children from what you consider to be undesirable influences. In other words,

by acting as an examiner yourself, you are admitting that there is a strong case for censorship.

Now, of course, you will say that it is one thing to exercise censorship where children are concerned
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and quite another to do the same for adults. Children need protection and it is the parents’ responsibility
to provide it. But what about adults? Aren’ t they old enough to decide what is good for them? The answer
is that many adults are, but don’ t make the mistake of thinking that all adults are like yourself.

Censorship is for the good of society as a whole. Like the law, it contributes to the common good.

Some people think that it is a shame that a censor should interfere with works of art. But we must
bear in mind that the great proportion of books, plays and films which come before the censor are very

far from being ‘works of art’

When censorship laws are relaxed, dishonest people are given a chance to produce virtually anything

13 ’

in the name of ‘art One of the great things that censorship does is to prevent certain people from
making fat profits by corrupting the minds of others. To argue in favour of absolute freedom is to argue

in favour of anarchy. Society would really be the better if it were protected by correct censorship.
(2)

If the sun has enough power to warm and light the whole earth, it must have enough power to do other
things, too. Can we use the sun’ s abundant energy to supply electricity, or at least to perform the

functions which electricity or other types of power usually perform? The answer is yes

For example, people have for many years been using the reflected heat of the sun to cook by. Solar
cookers have been built with several curved mirrors reflecting the sun and focusing its heat on the cooking
element. This apparatus can be used just like a gas or electric stove; it is more expensive to make but
it does not need any fuel, and so costs nothing to use. Another possibility of using solar energy is in

house—heating.

The form of energy we use most is electricity, and every day more is needed. But electricity has to
be made, too, and to make it huge quantities of fuel are required — oil, coal, gas and nowadays even

uranium.

The question which worries everyone today is: how long will these fuels last? Nobody knows for sure
but most experts think it will soon be difficult to obtain sufficient electricity from these sources

It is possible that the sun can make a contribution here, too.

Solar power has already been used to produce terrific hat. In Southern France a solar furnace has
been built, where temperatures reach more than 3000° Centigrade. This furnace is only used for experiments

at present, but could be used to produce steam for a power station.

So it is possible that one day in the near future we will depend on solar furnaces and power stations
to provide our electrical needs. Or perhaps each home will have a solar generator to provide power for

lighting and heating.
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1983 FEEHRIFEAMER
Section I: Structure and Vocabulary (10 points)
1. [A] 2. [B] 3. [B] 4. [D] 5. [B]
6. [D] 7. [B] 8. [C] 9. [C] 10. [D]

Section II: Verb Forms (10 points)

11. answering 12. Having completed

13. had not hurt 14. have been put

15. reading 16. would have been understood
17. renovating 18. changed

19. to cut 20. crying

Section III: Error—detection (10 points)

21. [A] 22. [C]
23. [C] 24. [A]
25. [B] 26. [E]
27. [B] 28. [A]
29. [E] 30. [D]

Section IV: Cloze Test (10 points)

31. [B] 32. [D] 33. [A] 34. [C] 35. [C]

36. [A] 37. [D] 38. [B] 39. [C] 40. [D]

Section V: Reading Comprehension (10 points)

41, [C] [ 42. [B] [ 43. [B] [44. TA] [ 45. [B] |

Section VI: Structure and Vocabulary (10 points)

46. [D] 47. [B] 48. [B] 49. [A] 50. [A]

51. [D] 52. [C] 53. [B] 54. [C] 55. [B]

Section VII: Chinese—English Translation (15 points)

56. We do not agree with what he has just said

57. The students did not understand the meaning of the sentence until the teacher had explained it a second

time.

58. We are very glad that he has fulfilled the task in time.

59. We are interested in the way he solved the problems.

60. Although we import some new techniques and equipment, we will rely mainly on ourselves to realize
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the four modernizations.

Section VIII: English—-Chinese Translation (25 points)

W

LAV BB AL TE 5 K AOHIRL. (1 22 SO VRO BT B B F57TT B 5675 — F Y002 A e Be
IRATL TR SRR B SR TR LA A5 AT 2 Ry i ot R A2 A7 1%, AR
BRASTAE. MBAREE 77, IIRIRAE IR KR BRI RN T, AR B 0.
BRI, AR 2 D AT AR L

MR, S IR LT R — I, R By H . LT R SR (R RS B FAE
EREARAE A LI SEA T S5 e LTS5 AR D A7 20 [P0 AV 5 A AR BB . i T
TN (KR NS AR 1 O B T B 2 IR, e R — RS AR

AT AU TS SRR AT, TR B2 6 507 28 ST A A K A3 P R
“Z‘S’Tﬂz ”O

S IO, SRR Z LA AT HLIT A 2R BT T4 RE IR DTS AU R o 2 TARROK
2 A B AR P A SO DL, KA AR SR BUIRAS . 0 2 G B I
BIRE I (55 2 .

(2

ORPBEA f2 65 B Bt 5 MRS AR 26, R (205 RO RE R LA . AL T AP K
B B R R L A R TRy SRR 3 S 367 [

B, 2 6RO BRI SR B I BB . A HTKPR LI B T B T S g
FHA LI . LT LGPt~ FEGE B AR SRS, (SRR, R GEF LA
TE8k. KMBE T REPERHRIE

ROV ERE ORI R . TS H . R R FEAR, B LR E KR, Wi,
BE TR, DURE L AR

RN : B AR B A2 e BT AL (RS B R A TR A D ik
RFRYETE LI T o KBB4 P REAE T T Hy 52 1 TR

KR i EV R BGOSR IE . (VBT L T — HERFHK, BT IR 3000 LA E. i REA
U F BT RIS T LR P R R AR AR

FRBAE R AR, TR AT AT AR T BT A A R AR R TR TR ) (A 38 VRS P D K
FH AR B R .7
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1982 £ EM LM RAENEG — LR RIERE

Section I  Structure and Vocabulary

In each question, decide which of the four choices given will complete the sentence if inserted at the
place marked. Circle the letter before your choice. Only one choice is to be circled (12 points)

EXAMPLE:

(1) The matter you were arguing about last night has been settled

[A] what

[B] as

[C] whom

[D] that

ANSWER: [D]

(2) We must not rule the possibility of miscalculation.

[A] away

[B] off

[C] out

(D] up

ANSWER: [C]

1. You never told us why you were late for the last meeting, ?
[A] weren’ t you
[B] didn’ t you
[C] had you

[D] did you

2. 1 have to get about the subject before I write the paper.

[A] a few more informations
[B] a little more information

[C] a few more information

[D] a little more informations

3. Only when you have acquired a good knowledge of grammar

[A] you will

write correctly.

[B] you can
[C] can you

[D] can’ t you

ARG FEZEKEH L QQ Ff: 983277199 837961369 #ifs: KBXZI11 HiEEH LI IR—X—4iTs L RN &




AT REZKEMA L0 QQ #E: 983277199 837961369 115 :

KBXZ111 £iEHEHE R34S 27N G

4. it is you’ ve found, you must give it back to the person it belongs to.

[A] That
[B] Because
[C] Whatever

[D] However

5. Although

elsewhere in the world.
[A] which

[B] what

[C] how

(D] it

6. He studied hard at school when he was young
[A] , which
[B] therefore
[C] which
[D] so that

7. He felt it rather difficult to take a stand
[A] against
[B] by
[C] to
(D] in

8. I need a book dealing
[A] about
[B] on
[C] with
[D] to

9. He has been asked to account
[A]
(B]
[C]
(D]

of
on
about

for

10. Science has brought many changes in our

[A] out
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happened in that developed country sounds like science fiction,

it could occur

contributes to his success in later life.

the opinion of the majority

anti—pollution problems.

his absence.

lives.
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11.

12.

[B] into
[C] about
[D] forward

How did it come that you made a lot of mistakes in your homework?
[A] about
[B] after
[C] with

[D] to

Science has brought many changes in our lives
[A] for
[B] to
[C] in

[D] with

Section II Verb Forms

Fill in the blanks with the appropriate forms of verbs given in brackets. (12 points)

13.

14.

15.

16.

17.

18.

19.

20.

EXAMPLE :

(1) Will you call them up and tell them we’ 11 start as soon as the rain (stop) ?
ANSWER: stops

(2) (See) from the moon, our Earth looks like a big bright disk

ANSWER: Seen

~ (base) on his personal observation of nature.

The author gave a detailed description

The way he talks is simply intolerable I object to ~ (treat) like a child

These students are quick at learning. We’ 11 have them ~ (train) in new methods.

Had she been given some information, she (can answer) the questions.

Helen borrowed my dictionary the other day
Mary always has a lot of letters to write. She
(not finish).

We promised them to be there by 5 0o’ clock. Now it” s 4:50 already, and the rain ~ (pour) down
like this. They (must wait) for us impatiently
Mr. Green ran all the way up to the stationonly (find) that the train (leave) fifteen
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minutes before.
Section III Error—detection

Each question consists of a sentence with four underlined parts (words or phrases). These parts are labeled
[A], [B], [C], and [D]. Choose the part of the sentence that is incorrect, and circle the letter of your
choice. If you find no mistakes in a sentence, circle the letter E for “"No Error”. Only one choice is

to be circled. (10 points)

EXAMPLE:
1) The plant manager, like many workers, were very experienced in safety precautions. No Error
A B C D E
ANSWER: [B]
2) To comprehend well, a student must read frequently. No Error
A B C D E

ANSWER: [E]

21. If the policeman would have arrived earlier, he would have seen the accident. No Error
A B C D E

22. The tasks of the director are greater than his assistant. No Error
A B C D E

23. Neither the teacher nor the students were introduced to their dean. No Error
A B C D E

24. The visibility became so bad that I could not hardly see the man who was walking one foot in front
A B C D

of me. No Error
E

25. She hung up all the clothes that has been laying around the room. No Error
A B C D E

26. The amount of hours we spent on the work was rather small. No Error
A B C D E

27. The lecturer is a person with great promise and who should be encouraged. No Error
A B C D E

28. My name is William, and most of my friends call me Bill for short. No Error
A B C D E

29. We strongly suggest that Smith is told about his physical condition as soon as possible. No Error
A B C D E
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30. The group is waiting for their plane to Beijing. No Error
A B C D E

Section IV Cloze Test

For each numbered blank in the following passage there are four choices labeled A, B, C, and D. Choose

the correct one and circle the letter before your choice. Only one choice is to be circled. (11 points)

EXAMPLE:

1 the final scene I noticed him 2 his eyes.

1. [A] During
[B] While
[C] As soon as

[D] No sooner than

2. [A] to wipe
[B] wiping
[C] to be wiped
[D] having wiped
ANSWER: 1. [A] 2. [B]

31 before man learned how to build houses, he 32 natural shelters, as the animals did.

He found that he could 33 himself by climbing up into trees or by crouching 34 the

overhanging edges of cliffs, or by crawling into 35 . The first shelters or homes actually built

by man were very simple. For his building 36 , he used what he could find easily 37 him:

rocks, tree branches, dried grasses, animal skins. It was 38 , however, before man began to build
39 shelters because 40 man learned to farm, he lived by 41 .

31. [A] Epoch
[B] Long
[C] Time
[D] Age

32. [A] looked after
[B] looked about
[C] looked for
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33.

34.

35.

36.

37.

38.

39.

40.

[D] looked into

(A]

protect

[B] confine

[C] bury

(D]

(A]
(B]
[C]
(D]

[A]
(B]
(C]
(D]

[A]
(B]
(C]
(D]

(A]
(B]
[C]
(D]

(A]
(B]
[C]
(D]

[A]
(B]
(C]
(D]

[A]
(B]

cover

to
above
into

under

cracks
pits
caves

cavities

rocks
substance
materials

groundwork

around
above
under

over

in time
many a time
behind the time

a long time

permanent
unchangeable
changeable

perpetual

if

in case
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[C] until

[D] after

41. [A] fishing
[B] gaming
[C] hunting

[D] shooting
Section V  Reading Comprehension

Each sentence or paragraph below is followed by four statements. One of the statements is a suggestion
which can be drawn from the information given in the original sentence or paragraph. Read the sentences

and paragraph carefully and circle your choice. Only one choice is to be circled. (10 points)

EXAMPLE:

Whether the study of the lunar rocks will answer the long debated question of the origin of the moon

remains to be seen.
[A] The speaker wants to remain behind to see whether the study will throw light on the question.
[B] The speaker feels that the study will probably answer the question.
[C] The speaker is sure that the study will produce an answer to the question.

[D] The speaker is not sure whether the study will answer the question or not

ANSWER: [D]

42. If this book begins with a familiar them — the Indian experience of the last 120 years — the author

brings to it great power and deep understanding
[A] This means that the book was written 120 years ago.

[B] This means that the Indian experience of the last 120 years is a familiar experience, and nothing

new can be written about it.
[C] This means that the book lacks understanding of the Indian experience

[D] This means that the writer of this sentence likes the book.

43. 1 disagreed then as now with many of John Smith’ s judgments, but always respected him, and this book

is a welcome reminder of his big, honest, friendly, stubborn personality.

[A] The writer of this sentence dislikes John Smith, but agrees with his ideas.
[B] The writer of this sentence considers John Smith to be a disagreeable person.
[C] The writer of this sentence disagrees with John Smith but respects him.

[D] The writer of this sentence disagreed with him then but agrees with him now.

44. Just before his tenth birthday John received a horse from his father; this was the first of a series

of expensive gifts intended to create the impression of a loving parent.

[A] John received the horse because he was ten.
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[B] John received the horse because his father loved him.
[C] John received the horse because his father wanted to seem loving.

[D] John received the horse because his father wouldn’ t be able to give him expensive gifts in the

future.

45. It cannot be doubted that without intelligence and diligence on the part of the students themselves,
as indeed without the leadership and the coaching of the teachers, a good examination result will

not come.

[A] This sentence means that for a good result of an examination both the intelligence and diligence

of the students and the guidance of the teachers must be stressed.

[B] This sentence means that a good result of examination will come without either the students’
effort or that of the teachers

[C] This sentence means that a good examination result depends chiefly on the correct guidance of

the teachers

[D] This sentence means that a good examination result depends on either the students or the teachers.

46. Industry and commerce are the largest users of electrical energy. Using less electricity would mean
a reduced industrial capacity and fewer jobs in the affected industries. Therefore an unfavorable

change in our economic structure might result

[A] This means that decreasing the use of electricity must begin immediately.
[B] This means that decreasing the use of electricity will cause difficulties.
[C] This means that decreasing the use of electricity isn’ t important.

[D] This means that decreasing the use of electricity won’ t affect industry.
Section VI Chinese—English Translation

Translate the following sentences into English. (15 points)
47. BEEMERE %, ks EER L.

48. Wi IR X B )b 1970 SRR N 1 M .

49. FERNDFRIRFFGHEE ARG

50. REIRATRSEE ) TAE, BATHAESR AT 7E TS -

51. RUERANMBUS AT R EAEEBERES, TOTWETEY 2 45 A & F R .
Section VII English—Chinese Translation

Choose either of the following two passages and translate it into Chinese. (30 points)

)

In country after country, talk of non-smokers’ right is in the air. While a majority of countries
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have taken little or no action yet, some 30 nations have introduced legislative steps to control smoking.
Many laws have been introduced in other countries to help clear the air for nonsmokers, or to cut cigarette

consumption.

In some developed countries the consumption of cigarettes has become more or less stabilized. However,
in many developing nations, cigarette smoking is seen as a sign of economic progress — and is even
encouraged. As more tobacco companies go international, new markets are sought to gain new smokers in
those countries. For example, great efforts are made by the American tobacco industry to sell cigarettes
in the Middle East and North Africa — where U.S. tobacco exports increased by more than 27 percent in
1974.

Smoking is harmful to the health of people. World governments should conduct serious campaigns against
it. Restrictions on cigarette advertisements, plus health warnings on packages and bans on public smoking
in certain places such as theatres, cinemas and restaurants, are the most popular tools used by nations
in support of nonsmokers or in curbing smoking. But world attention also is focusing on another step which
will make the smoker increasingly self-conscious and uncomfortable about his habit. Great efforts should
be made to inform young people especially of the dreadful consequences of taking up the habit. And cigarette

price should be boosted.

In the long run, there is no doubt that everybody would be much better—off if smoking were banned

altogether, but people are not ready for such drastic action.
(2)
Nuclear power’ s danger to health, safety, and even life itself can be summed up in one word: radiation.

Nuclear radiation has a certain mystery about it, partly because it cannot be detected by human senses.
It can’ t be seen or heard, or touched or tasted, even though it may be all around us. There are other
things like that. For example, radio waves are all around us but we can’ t detect them, sense them, without
aradio receiver. Similarly, we can’ t sense radioactivity without a radiation detector. But unlike common

radio waves, nuclear radiation is not harmless to human beings and other living things

At very high levels, radiation can kill an animal or human being outright by killing masses of cells
in vital organs. But even the lowest levels can do serious damage. There is no level of radiation that
is completely safe. If the radiation does not hit anything important, the damage many not be significant.
This is the case when only a few cells are hit, and if they are killed outright. Your body will replace
the dead cells with healthy ones. But if the few cells are only damaged, and if they reproduce themselves,

you may be in a deformed way. They can grow into cancer. Sometimes this does not show up for many years.

This is another reason for some of the mystery about nuclear radiation. Serious damage can be done
without the victim being aware at the time that damage has occurred. A person can be irradiated and feel
fine, then die of cancer five, ten, or twenty years later as a result. Or a child can be born weak or

liable to serious illness as a result of radiation absorbed by its grandparents

Radiation can hurt us. We must know the truth.
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Section I: Structure and Vocabulary (12 points)

KBXZ111 HyEFHEIR—X—5iS 52 HRHE N &0

1. [D] 2. [B] 3. [C] [C] 5. [B]

6. [A] 7. [A] 8. [C] (D] 10. [C]

11. [A] 12. [C]

Section II: Verb Forms (12 points)

13. based 14. being treated

15. trained 16. could have answered

17. saying; would return 18. has been writing; has not finished
19. is pouring; must be waiting 20. to find; had left

Section III: Error—detection (10 points)

21. [A] 22. [D]

23. [E] 24. [C]

25. [D] 26. [A]

27. [C] 28. [A]

29. [C] 30. [C]

Section IV: Cloze Test (11 points)

31. [B] 32. [C] 33. [A] 34. [D] 35. [C]

36. [C] 37. [A] 38. [D] 39. [A] 40. [C]

41. [C]

Section V: Reading Comprehension (10 points)

42. D] [ 43. IC] [ 44. [C] [ 45. [A] [ 46. [B] |

Section VII: Chinese—English Translation (15 points)

56. As time goes on, he will understand what I said.
57. We have been told that there are now three times as many factories in that district as in 1970.
58. It is hard work keeping vegetables fresh in this season.
59. So long as we continue to work hard, we can finish the task ahead of schedule.
60. Despite the great differences between our political and economic systems, our two countries share
a wide range of common interest.
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Section VIII: English—-Chinese Translation (30 points)

(1)

AR BRI R R, IEAE— A X —ANME K BEIFRIE . B4 2 8E AR 8O0 WA RIS, A=t h
(R oK D R BGE AR P A BN o 53— S 5 T 5 5 AN 43 A 2 B SRR OV 2 B 11 2 Pkt

FERLERORF K . AU 2 Claie € . R Z R T E R B, WAL 25 KR K —Fir &
—E B2 RN G, B E 2 R A E EERMORIER, AR E 5 S PO T, A EUE 2 O .
o1l a1 5% 1 AR b gl g A A AR A AL AR HERS B —— A X S X, & [R5 2 AE 1974 SR8 1 H 2 — Bl
F.

WS N B R T o T R FE U 2T BN L SO R HIZ 2 o BRI, B0 A0 e 75 (g e
R, DLREE AR Qs il e AR U S5 50 28 2 SR RO, X SRR VF 2 [ 5 DA SRR AN 38 R A R A 3
M Ipide [RRS, AT IEEE S A S — WHE I E . XIS R (3 O Bl IR 2 B A R S5O
BEREIAZ . NAZAEHERS: D E R B E AR L, R0 TR B ST aT 5 2R e i HL A AR A% BT 1R
o

MAREW R, ZTEEN, WRAEEEZERM, AN NI RIR I S o (B0 T RO Ff il i
T, AT EHE .

(2)

RRBEXT R 22 4 B A X AR i AN S P S S AT DA — AN IADR M . 84T

ARSI AR 2 A i, Hi o IR AR NSRS RETCIE 5L 5 2 E A7 AE SR A 1A B T el 2 Fa AT 26
MRERATEANE, ARIE, BAEE, WAL ERKRIE. &6 —SANEMRPI AR B, 700 H 2
AR TCL B, (HAIR A O YA, BT AS RESR I 2 BB OE 2 E B AE . FIRE,  JSRAS AR S PRI 4%
FATEARER GBI BON IR o (HRZERGA F T E@ R T2 s, EX AL AR AR T E /.

RE AR voi AR S £ FE e BB 2 Y LA R e M M T S M) RN SLRISRAE . B2 SR (R RE R MR R i £ th R i
JR B E o AMEAEAE TR 2 2 HOHR M RED . WIERGR I 25T o AT B LR V8, B I REA AR .
g I 2 R b A B i O HLSL RIS e AT TR IR, IR DU R RE . AR B A RE LR BRI 4R i AR SE T A . (B
G AR IX S DRI A RS2 BIHR,  IX L4 S BT HEH, AR BRI, AT B IH . e AT AT e
AR, XA LA I FEVE 25 2 R A RE R R K

REIR N LR A SR GO 51— R . BT REAER T DR R E H B IRA RIS T & ™ E
PFE . N AIEZ BB RERE R AP, S5 RATE. THER T HERIE TR B /NME—E TR A g5 EL 5
TR A, R R A AR A B B RS AR A 2k

AT AR FE BAT. FATRLZENTE FAH .
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1981 £ EM LM RENEG — LR RIERE

Section I  Structure and Vocabulary

In each question, decide which of the five choices given would most suitably complete the sentence. Circle

the letter before your choice. Only one choice is to be circled (14 points)

EXAMPLE:

The guests said that they wouldn’ t mind
[A] to have a little light music

[B] having a little light music

[C] have a little light music

[D] if they have a little light music
[E] that they have a little light music
ANSWER: [B]

1.  She has been working in this factory
[A] after 1968
[B] in 1968
[C] since 1968
(D] for 1968
[E] until 1968

2. We can’ t understand why he avoided =~ 'to us.
[A] to speak
[B] speech
[C] having spoken
[D] speaking

[E] to have spoken

3. 1 am interested in you have told me
[A] which
[B] all that
[C] all what
(D] that

[E] everything of which

4. It is because she is too inexperienced she does not know how to deal with the situation.

[A] so
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[B] that
[C] so that
[D] therefore

[E] that is why

5. He was afraid he would have to her invitation to the party
[A] refute
[B] refuse
[C] return
[D] ignore
[E] decline

6. She wants to know whether the measures have been agreed
[A] to
(B] with
[C] about
[D] upon

[E] over

7. Since she is angry, we o
[A] had better leaving her alone
[B] should leave her alone

[C] might as well leave her alone

[D] had rather leave her alone

[E] must leave her alone

8 IwishI to the movies with you last night
[A] went
[B] did go
[C] could go
[D] have gone

[E] could have gone

9. Scarcely had they settled themselves in their seats in the theatre the curtain went up.
[A] than
[B] when
[C] before

[D] as soon as
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[E] as

10. Write clearly your teacher can understand you correctly.
[A] since
[B] for
[C] because
[D] so that
[E] then

11. If the doctor had been available, the child
[A] would not die

[B] would not have died
[C] could not die

(D] could not have died
(E] should not have died

12. I’ d just as soon rudely to her.
[A] that you won’ t speak
[B] your not speaking
[C] you not speak
[D] you hadn’ t spoken

[E] you didn’ t speak

13. Ten years had elapsed. I found she had
[A] a little white hair
[B] some white hair
[C] much white hair
[D] a few white hair

[E] a few white hairs

14. The electric shaver before it can be used
[A] needs repairing
[B] requires to be repaired
[C] should be in repair
[D] has to be repairable

[E] must repair

Section II Error—detection
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Fach question consists of a sentence with five underlined parts (words or phrases). These parts are labeled
[A], [B], [C], [D] and [E]. Choose the part of the sentence that is incorrect and circle the letter of

your choice. Only one choice is to be marked. (8 points)

EXAMPLE :
We did the research as good as we could; howerver, it did not turn out to be satisfactory.
A B C D E
ANSWER: [B]

15. The president of the college, together with the deans, are planninga conference for the purpose of
A B C D

laying down certain regulations.
E

16. In order to convince the director to agree with their plan, they brought forth a number of reports
A B C

which supported their argument.
D E

17. His method of doing research work is hardly appreciated; he feels inferior than others.
A B C D E

18. A series of debates between the lecturers were scheduled for the next weekend.
A B C D E

19. The automobile industry is manufacturing a new type of a motor that will consume less gasoline and
A B C D

cause much less pollution.
E

20. When his plane arrives on the airport in Shanghai, I shall already have left for Beijing.
A B C D E

21. The industrial trend is in the direction of more machines and less people.

s in
A B C D E

22. The workers were already to work long before he arrived.
A B C D E

Section III Sentence Making

Combine the given words and phrases into sentences. (4 points)

EXAMPLE:
His sons / he / their grandmother / to see / just before his last birthday / take

ANSWER:
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Just before his last birthday he took his sons to see their grandmother.

23. last month / in Europe / travel / she / since

24. the decision / as final / frankly / should / not consider

25. to the stranger / talk / there / stand / a while ago / he

26. this kind of / can / get used to / I / never / food / eat
Section IV Verb Forms

Fill in the blanks with the appropriate forms of the verb given in parentheses. (14 points)

EXAMPLE :
“Those, ” he said, ~ (point) to the books ~ (pile) on the desk, “ (need) over
there now.”
ANSWER: pointing; piled; are needed
Thousands of years (pass) since then; but people still (like) (tell) the
story of Leonidas and the brave three hundred who (dedicate) their lives to their country.
ANSWER: have passed; like; to tell; dedicated
27. The public demanded that the prices (reduce) .
28. With the guide (lead) the way, we set off on foot into the dark night.
29. 1 need that book badly. If you go to the bookshop this afternoon, please remember (buy) a
copy for me.
30. (arrive) home at daybreak, he felt dead tired. He (work) all night.
31. (exhaust) by his work, he lay down on the bed to take a rest.
32. We’ 11 have to take a roundabout course, for the road (repair).
33. No decision (make) about that matter yet. We (still consider) it
34. (meet) Tom earlier today, I don’ t need to see him again
35. If you (go) on at the present rate, you (use) up all the petroleum by the end of
the month.
36. The building is said (destroy) in a fire two years ago.
37. The car (go) at the present speed until it reaches the foot of the mountain at about ten
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)

o’ clock tonight
Section V. Cloze Test

Fill in the blanks with proper words (10 points)

In recent years television has become the most popular form of entertainment. It does not look as
if it will be 38 popular in the world of the future. In fact it looks as if television will become

39

more popular than ever. New systems of television have been made possible the discovery of the

laser. A laser is a beam of light that has many strange qualities. By using a laser, it is possible to

40

throw every large and very clear television pictures on a screen. These pictures may be as large

41

as three meters . Many people could watch this kind of television together.

Laser beams have also made very thin television sets 42 . These sets can be hung on the wall

of a room like a large picture. Another development in the future will be three dimensional television;

the picture will look more ‘real’ 43 it will have depth as well as height and length.

In the near future you will be able to buy your favourite television programmes already 44

45

on tapes. They will be like the tapes are used in small cassette tape recorders today. You will

also be able to record television programmes and play them _ 46 later. The laser beam will make
47

possible.

Section VI Chinese—English Translation

Translate the following into English. (10 points)
48. X TURFA R EA B XK

49. R L) REetMBEAITHREN A2 =1

50. AT —EIRFINBEE,

51. VW& NLLYREREL, HFESL IRt

52. FRIE At 2 3 AR AR — TFRATT L6 20185 ) 56 B IAT 55
Section VII English—Chinese Translation

Choose one of the following three passages and translate it into Chinese. (40 points)
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(D
The United Kingdom is a monarchical (F FBUAH]) State. It is one of the independent members of the

Commonwealth (the Queen is recognized as head of the Commonwealth), and a member of the European Community.

The origins and traditions of the United Kingdom are to be found in each of the four parts that make
up the country: England, Wales, Scotland and Northern Ireland. England was united as a kingdom a thousand
years ago, and Wales became part of the kingdom during the middle ages. The thrones (FA{i) of England
and Scotland were united in 1603, and in 1707 legislation passed in the two countries provided for the
establishment of a single Parliament of Great Britain with supreme authority both in England and Wales
and in Scotland. Ireland had had links with the kingdom of England since the thirteenth century, and in
1800 the creation of the United Kingdom was completed by a union joining the Irish Parliament to that
of Great Britain. In 1922 Southern Ireland (now the Irish Republic) became a self-governing country. The
six counties of Northern Ireland had in 1920 been given their own subordinate Parliament, and voted to

remain within the United Kingdom.

The United Kingdom Parliament at Westminster in London — with an elected chamber comprising members
from English, Scottish, Welsh and Northern Ireland constituencies (3£%5[X) — therefore represents people
sharing very varied backgrounds and traditions. It has ultimate authority for government and law—making,
but administrative arrangements have developed in such a way as to take account of the particular needs

of different areas.

England and Wales on the one hand and Scotland on the other have different systems of law, different
court systems, different education systems, different systems of local government and, for most domestic

matters, different government departments
(2)

As more people live closer together, and as they use machines to produce leisure, they find that their
leisure, and even their working hours, become spoilt by a by—product of their machines — namely, noise.
Noise is nowadays in the news; it has acquired political status, and public opinion is demanding, more

and more insistently, that something must be done about it.

To control noise is to demand much self-discipline (annoyance arises often from lack of common
courtesy), a sense of proportion (there is usually a conflict of interest if a noise is to be stopped),
the expenditure of money (and it is far more economical to do this early rather that late), and finally

technical knowledge.

Technical difficulties often arise from the subjective—objective nature of the problem. You can define
the excessive speed of a motor—car in terms of a pointer reading on a speedometer. But can you define
excessive noise in the same way? You find that with any existing simple “noise-meter” , vehicles which

are judged to be equally noisy may show considerable difference on the meter.

Though the ideal cure for noise is to stop it at its source, this may in many cases be impossible

The next remedy is to absorb it on its way to the ear.

Domestic noises may perhaps be controlled by forethought and courtesy, and industrial noises by good
planning and technical improvement. But if we are going to allow fast motor—cycles and heavy diesel lorries
to pass continuously trough residential and business districts, the community must decide on the control
it needs to exercise, for in the long run it has got to pay for it. And if a nation is to take part in
modern air transport, it must enter into international agreements on the noise control measures it will

impose at its airports — and here the cost of any real control is to be measured in millions of dollars.
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(3)

About 350 years ago Galileo made a telescope and looked through it at the sun. What he saw both surprised
and frightened him, for he saw dark spots on the sun which at once suggested to him that God had not made
the world quite as perfect as he had previously believed. He hesitated to make his discovery known.

Meanwhile other scientists noticed the same lack of solar perfection and proclaimed (EAf) the fact

But Galileo continued his observations and was soon rewarded with another discovery. Fixing his
attention on a single sunspot (KFHZE-F) group, he noticed that in a few days it had moved in position,
just as if the sun itself were turning. Afterwards he found a sunspot group which lived long enough to
disappear from view on the western limb (JZ1%Zf) of the sun, to re—appear on its eastern limb, and finally
to regain its old position. This led him to conclude that the sun itself was rotating and that the time
it took to make one complete turn was about twenty—-five to twenty—seven days. Actually we know from the
drawings which Galileo made of sunspots that there must have been quite a lot of them at the time of his
observations in the years 1611 and 1612. If he had gone on making his drawings in the years that immediately
followed, we know that he would almost certainly have noticed that sunspots were becoming fewer and smaller.
But he became interested in other things and so he failed to recognize that there is a kind of long—term
cycle in sunspot activity, the sunspots increasing and decreasing as the years go on. Later this discovery
of the sunspot activity was made by one of the most patient observers in the history of science, a German

chemist, Charles Schwabe.
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1981 EEMIIEEFTER

Section I: Structure and Vocabulary (14 points)

1. [C] 2. [D] 3. [B] [B] 5. [E]
6. [D] 7. [C] 8. [E] . [B] 10. [D]
11. [B] 12. [E] 13. [E] 14. [A]

Section II: Error—detection (8 points)

15. [C] 16. [B] 17. [E] 18. [C] 19. [C]
20. [B] 21. [E] 22. [B]

Section III: Sentence Making (4 points)

23.

She has been travelling in Europe since last month.

24.

Frankly, the decision should not be considered as final.

25.

He stood there talking to the stranger a while ago. / Standing there, he talked

to the stranger a while ago.

26. I can never get used to eating this kind of food

Section IV: Verb Forms (l4points)

27. be reduced 28. leading

29. to buy 30. Arriving, had been working
31. Exhausted 32. 1s being repaired

33. has been made, are still considering | 34. Having met

35. go, will have used 36. to have been destroyed
37. will be going

Section V: Cloze Test (10 points)

38. less 39. by

40. to 41. by

42. possible 43. because

44. recorded 45. that / which

46. back 47. this

Section VI: Chinese-English Translation

(10 points)

48. The more I study the subject, the more I like it.

49. The factory can only supply thirty percent of what we need

50. They did not stop talking until they fell asleep.

51.

Many people think that electricity is a fuel; but, as a matter of fact, it is not.
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52. The socialist modernization of our country is an important task that we must strive to fulfill.

Section VIII: English—-Chinese Translation (40 points)

(1)

WA B — AN B BRI E S BRI A AL E K 2 — (I BRI SEIRIR N E D, A2 BRI [F]
PR RR A

KA [ AR PR AN AL GE ] AL SCE I DY AN B > —— 2% 220 BUR L. D38 AL 2 R 2 —— I S 2
FRE A TG AN EE, BURENT AR OV EE N RE . — NO=5, JAE 5 T5%
R EMETN— —BO-CFEMEEE %, MEBL DR, R 2 AEUR 1 DU AE TR 2 X 5 e
B IRAFNEIE 4 2/RZ 532 EEHE F=HALRBCHKR: —/\NOOFEH T R/RZE I RAFIIIES:,
BREEEMEBES SR — L= %, ME/ARE (BERRRZIAED gy — B EME . JLE/RZRANAD
HET N OFYREAURL A O ERG ERE2Z M S, FRERREAERES ERENA.

BB RS EE E & ——ef — M2 R o 2, 58 22, BUREAER /R 22 253k X
B R B R AR W —— R RR B A+ AR FAE S AR . € A & WBUFBUIRSLIER, B
ATEUE BT AR T 2 HE LA BAN [R] 3 X R R IR 7 2

TR L ANEUR £ DU 3% 2P S A A FRREERE, ARBER RS, ARBE R, ASE 7 B )
&, IF A A R ABOR 8 IR A BECHR 20 () Y A 55

(2)

BEE 2 I NS, B A 160 A S A LES USRI R B, AT A BUAT TR 2 i, F 2 A AT A0 AR I (] #4852
FUMBATHL &S B9 — B i —— R —— P B . BRI S P 2R IRIS R B CBUS TBUAAL, A
EELVR th ORI R SRR I — 3 F RIS A I

L ) R AT EORAR KRR E A B JRAVA (R NG 0 g8 ol T 2 @ AL 5 R KD, — R i (n
REH|IEMET, SRR EFEMNTD, R (BRI ETEZ), BaEAHARMIN.

BORIEAE R b1 B 32 2 A 52 S RT DURAEIE BE T IR TR M BORR & — iR i . w2,
PRBE I FVRE A7 ok i R IR 1 2 IR B, HOA MR A0, AT (O fa i “ M5t ERoR
ST BE KAV

ERIRVH BRI 5 ) SR B AR 22 AR ORI AL T KB, (HAERZEOLT, JWFRATRER. HIRIHEIRERE
Rl B A2 E BIE A I AR TR g o

% B AN 5 BV AT e L T 50 (0 2% R 5 LN DA ], Tl M U T S I R 4 R S S AR e o A A
{E52, WERIANT OV R BEFE 4 5 A AL R 2 % AWt s (B XS RL X, A et XA 4 e RO At
IR TE AT 5 EE AT MR T, RO A WL KR, AT U EEAT AR o o SR — AN B 52 DA ) 2
iz, BB IN E RS e, XSRS AT R AL T AT —— MR AN B, AR
IR e kYN EPIE S S

(3)

RAE=ATHFERT, MRBSHIE 7 & 8ims, I ERMWERH . ARG 110 5 A8 28 30 BErZ 15 3CF 1A,
KON BIKFH BAA — S 08 R, IR At 37 2 DG AR 31 b 75 B3 A tH 5 A St DLRT T ARAE B A 58 36« AR A R,
ANBEEAR T R I A AT T SRR, HAR R 5 3 S BRI IX AN, JEEAN T IX AN,

HR, MRS AREEEAT I, AN, IS /3R T 55— KM MAEEE TR R T b, iR,
LR, RXEEBTIAER 72, U KA SRS Gk, MRINA —#R RN LZ% Bl T
— BRI TE R, SRETE R AR L% L e R R 5AL. SRR SRS XRS5 8 KIEA S TEies:, e
H—HATR - TRB R, B, AT i oK 5H B B i, £ —/8——FM—78— 20K
Wi, —E g M R E AR R T W RAERE S I JLAE D, Al 4k SRR SR H RE TRl ok, FRATARAE, Al KR
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—E S R IUKIA B IEAE A R B DRk e A, IR, Al AR Hofh B R AR R, R, fhE A F
FERFHR T RGBSR AAAEE — PRI Y, BEE Y AL, KRR T 2. JER, RIUKH R 7534
W N R R s B AT DR S E 2 ———EE AR AR - YRR
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1980 ££EM L RAENEG — LR RKIERE

Section I  Use of Prepositions

FE BT I T e — M E X B e R 5 43,
5

G FAAREHE - AER, ZHERA

to, at, instead of, from, of, with, on, among, between, because of, about, for into, with regard to,

over

1. The findings are far satisfactory

2. We shall divide the work

5. We must pay attention

6. The

7. The news which I am going to tell you

8. The

9. The machine tool went out of control

10. Don’ t be satisfied

Section II Verb Tenses

PRI 45 3] 13E N IR SEAE H: CRGEIE 10 70, 5B 7

ER, ZHEREAED)

11. Those who’ d like to visit the exhibition
12. A great number of small power stations
13. He asked me whether my brother
14.

He fell asleep immediately last night; he must

15. “Have you moved into the new flat?”

AT REZKEMFC0 QQ #E: 983277199 837961369 115 :

newly—installed control computer will soon be put

engineer seemed to know what the sign stood

B2 gy, HAZEE 1) GEE:

us research workers.

3 — 4 months.

the latest development of the situation.

mishandling

what you have achieved.

(sign) your names here

(set up) in their county since liberation.

(fly) to Beijing

(be) very tired.

KBXZ111 £iEHHE R34S 27N G
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“Not yet. The rooms (paint).”

16. The director recommended that she

17. The teacher told them since light

to go before thunder.

18. How long they

19. He refused to tell us whether he

Section III Verb Forms

HIFra s & 24 O, i 341D AZH: CRREE 15 7, Al

MER, ZHERPED)

20. Matter is the name

21. I shall never forget

22. 1 wonder if he could get it

23. Night

24. A beam of light will not bend round corners unless

device.
25. We were busy

26. Some molecules are large enough

27. The floor does not look so bad when

(fall), we hurried home.

(study) more English before going abroad.

(travel) faster than sound, lightning (appear)

(dig) the ditch?

(undertake) the job.

&
[
el
oy
&
Pl
&
S
iF

~ (give) to everything which has weight and occupies space.

(meet) the late Premier Zhou during his inspection of our factory.

(do) before tomorrow.

~ (make) to do so with the help of a reflecting

(get) things ready for the trial production when he phoned us.

(see) under the electronic microscope.

(sweep) clean.

28. (fail) several times, they need some encouragement

29. (catch) in the rain, he was wet to the skin.

Section IV Structure and Vocabulary

ERESS . CRR@IE 15 4y, B 1 5)
M CO”, (HFRE: FUREEEE 1NER, £

EXAMPLE:

FERR T, [B], [C), DIPIAER, RANBAIENS R
FARES)
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30.

31.

32.

33.

34.

35.

He me that he decided to leave on Monday

[A] spoke
[B] said
[C] talked
[D] told
ANSWER: [D]

This test a number of multiple choice questions

[A] composes of
[B] composes in
[C] consists of

[D] consists in

She writes as as her sister.
[A] clear

[B] more clear

[C] clearly

[D] most clearly

I prefer this diagram that one.
[A] than

[B] more than

[C] rather than

[D] to

I have been studying here for four years, by next summer I

[A] shall graduate

[B] shall be graduated
[C] shall be graduating
[D] shall have graduated

Hardly had he finished his speech
[A] and

[B] when

[C] than

[D] as

I wish you ~ like that.

[A] don’ t talk
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the audience started cheering
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36.

37.

38.

39.

40.

41.

[B] won’ t talk
[C] wouldn” t talk

[D] not to talk

Only when you have obtained sufficient data
[A] can you

[B] would you

[C] you will

[D] you can

come to a sound conclusion.

I found to answer all the questions within the time given.

[A] no possibility
[B] there was impossibility
[C] impossible

[D] it impossible

You go now. It’ s getting late.
[A] had rather

[B] would rather

[C] had better

[D] would better

Hot metal as it grows cooler.
[A] contracts

[B] reduces

[C] condenses

[D] compresses

Wood does not conduct electricity; -
[A] so doesn’ t rubber

[B] also doesn’ t rubber

[C] nor does rubber

[D] nor rubber does

Comrade Li ~ be in Beijing because I saw him in town only a few minutes ago.

[A] mustn’ t
[B] can’ t
[C] may not

[D] isn’ t able to
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42. T know it isn’ t important but I can’ t help about 1it.
[A] but to think
[B] thinking
[C] think
[D] to think

43. The more we looked at the picture,
[A] the less we liked it
[B] we like it less
[C] better we liked it

[D] it looked better

44. To succeed in a scientific research project
[A] one needs to be persistent
[B] persistence is needed
[C] one needs be a persistent person

[D] persistence is what one needs
Section V  Error—detection

WHHE R : (RRE3E 5 4y, 1 40D TNEA)FaAa (AL, [B], [Cl, [DIVUALRIZERS;, FEARIAZHIRK—ib
0”7, GEE: FEAREHE - MER, ZHERAED)
EXAMPLE:

It is very kind of you to supply me with so many informations
A B C D

ANSWER: [D]

our country been interested in athletic sports.
D

45. Never before has so many people i
A B

ols

46. Those of us who work in that chemical plant should have their lungs X-rayed.
A B C D

47. After the traffic accident he laid in bed for two weeks, waiting for his wound to heal.
A B C D

48. We advice him to give up smoking and do a lot of exercises
A B C D

49. The principal reason for the great number of smoke is that there are too many factories in the city.
A B C D

ARG FEZEKEH L QQ Ff: 983277199 837961369 #ifs: KBXZI11 HiEEH LI IR—X—4iTs L RN &




ARG FEZEKEH L QQ Ff: 983277199 837961369 #ifs: KBXZI11 HiEEH LI IR—X—4iT L RRBEN &

Section VI Chinese-English Translation

W RO FRRMRSETE: CRREEIL 20 75, 125, HRKEY 35

50. K—Z&hiE L R T e R

51 B\, A BN ROK LR 12 AR 1 BTG it

52. BATEFEZFE AR e

53. XANER LA EH [ L .

54. fEM EBW=AFA, R I E E R H 5 i 7 oRER) TAE.

55. BAHESIEE N PG e R AR I — R LA

56. WA RIS, FRE M-S 3 SR RESL LT .
Section VII English—Chinese Translation

BRIV SRR : (AR 30 70) GBI RLES 1B, B T, R K. RERTAESE 2 BO
(1)

The life of Albert Einstein is a model in many ways for both natural and political scientists

First of all, he always employed the scientific method of seeking truth from facts. He firmly believed
as he put it, that “there is nothing incomprehensible about the universe, ” and through painstaking work,
explained many of the phenomena thought to be “incomprehensible” in his day. Einstein was also never

afraid to admit mistakes when facts proved his theories wrong.

Second, Einstein’ s contributions showed the great importance of theoretical work to scientific effort.
Although he himself rarely worked in laboratories, the concepts he developed led to many of the scientific

advances which have shaped modern technology.

Third, Einstein believed very deeply that scientists must have a moral and social consciousness. In
this way, he provided inspiration for a whole generation of scientists who became active in the Communist

movement.

Einstein is often portrayed in bourgeois writings as a “genius” whose theories are so complicated
that no one but a few best scientists can understand them. But he himself rejected the efforts to put
him in a position far above other people. He was well known for his humble manner and often stressed to

interviewers that his accomplishments would certainly have been achieved by others had he never lived

Actually, Einstein’ s theory of relativity and his other scientific works are not that hard to
understand with a little study. But beyond learning Einstein’ s theories, his overall attitude towards

science as a tool to liberate humanity is something from which everyone can and should learn.
(2)

Between now and the end of the century, there will be many exciting developments and also many difficult

problems to deal with. Perhaps the most urgent problem is to provide enough food. The world’ s population
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is expected to reach 7,000 million by the year 2000, but already scientists have produced new and better
varieties of wheat and rice and animal. They have also been experimenting with techniques of cultivating
plants by using mixtures of chemical compounds and water only, and then there will be no need for ordinary
soil. Another problem which the world will face is to get rid of refuse (JE£L). One solution is to burn
refuse at very high temperatures in incinerators (34b4"). A development of this, which may prove very
useful in the future, is to use these incinerators to generate steam power. In fact, any new source of
energy will be very welcome, as there is already a shortage of petroleum. To solve the energy problem,

scientists will probably also try to make more use of solar energy.

The possible effects of some scientific fields, such as lasers and cryogenics ({Kif%), are difficult
to imagine and both already have a number of uses. The supercooling effects of the cryogenics which convert
liquid helium (JAAZ) and other gases into “superfluids” and metals into “superconductors” , making
them non—resistant to electricity, could change the world in a number of ways. The laser, with its beam
of strong light, can drill a hole in a diamond, and yet can be so well controlled that it can be used
in delicate eye operations. The question is whether it will be most used for peaceful purposes or as a

deadly weapon.

But perhaps the most remarkable developments will occur in space flight. One of the difficulties in
the past has been the high cost, but now the space shuttle is being developed, and can be used a large
number of times instead of only once. Already man has been to the moon. Perhaps by the end of the century

he will have had a close—up view of Venus (&&) or Mars (‘KAE).
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1980 FEEMRIEEFBER

Section I: Use of Prepositions (5 points)

1. from 2. among

3.  between 4. of

5. to 6. to, into

7. about 8. for

9. Dbecause of 10. with

Section II: Verb Tenses (10 points)

11. sign 12. have been set up

13. had flown 14. have been

15. are being painted 16. study

17. travels, appears 18. have -+ been digging

19. would undertake

Section III: Verb Forms (15 points)

20. given 21. meeting

22. done 23. falling

24. made 25. getting

26. to be seen 27. swept

28. Having failed 29. Caught (Having been caught, Being
caught)

Section IV: Structure and Vocabulary (15 points)

30. [C] 31. [C] 32. [D] 33. [D] 34. [B]

35. [C] 36. [A] 37. [D] 38. [C] 39. [A]

40. [C] 41. [B] 42. [B] 43. [C] 44. [A]
Section V: Error—detection (5 points)

45. [A] [ 46. D] [ 47. [B] [ 48. [A] [ 49. [B] |

Section VI: Chinese-English Translation (20 points)

50. Please turn off the switch (switch off) as soon as the water boils

51. The Chinese people will forge ahead (march on, march onward, march forward) with greater strides in
19807 s.
(made).

52. We all agree to the decision comrade Li has made

53. The result is much (far) better than we expected
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54. During the past three years a lot (of work) has been done in the recovery (restoration) of our national

economy (in recovering our national economy; in restoring our national economy).

55. We use English as a tool in learning Western advanced science and technology.

56. It is impossible to accomplish (carry out, fulfill, materialize) the socialist modernization of our

country (our socialist modernization) without the leadership of the Party.

Section VII: English—Chinese Translation (30 points)

(1)

By « ZPIHHER — A2 T, TN HARER, ERBUARER, #ot— .

HE, AR NSRS SRR IR TR, AR R T PR B R R AT A, 7 JRA R
w575, TSRO R AT RAELR . TH, 4SRRI R BRI, 52 A
HriH th A E AN IR -

Fok, 52 PRUTE R STk Ul B BLE TAEX Bl O BRI E . B B SRS = TAE, bR
BRI SR AT T F R, AT BARER .

H=, BREHIRGR KL AR AEEA LSRR X, sk T BN —RREER, ARSIt
77 B

% PRI AR B B 2B T N — A “RA, AREIR R an bl TR, DABUUE DR A I IR 2 K
A REMERR . (HZ, MARANAR RN AT S E TN ERIREE% . A A B R AT RN, At 80 Ry
FomR UL, WERBATB A, N E RS S AB AL ) oAt «

Fs b, DT AR DA A R A R 218 2 A BT TR A AT 1o (B BR T 52 20 52 R H g B iR 4t
A T A RHEAE N —F TR RARIR R B S R ARERS 2 2T 1, T H A BN Z A 2T

(2)

MIERIA LR, HHFZ S NMNARIRIE, RV WXER R, 2R . thvr oy ia ) i
ARSI . B 2000 IR QUK IER] 70 42, HEERZXANCERE G H &N E . B &L
Rl AR SR A AL S AK IR SRR ESEE IR, BRI AR — i -3 T . AR &
(K155 — LR AL B R ) o AT — MR IME AL A o R K PRV beds . XA AR — DN RE, T REAER R
EMIOA R, B DUREEAE SR A 28RN . FSEAE, AR A REVRHORS A& AR 32 UGl iy, Ry A LA
Ao EMRRBEVRIAIRE, Bhe S AT VRS B 2 R AR B AE -

W IROE A RIS, ISR O T REAE AR ME LB B, BN E e f s T g, RIRERE v 1E A
R R L SRR B “HR 7, e R AR “ AR, AEEATBRA B, AT AT AR S 2 T A T 5
5. #ot, WEMmIKDER, AIfEERIG BREL, War DR GFin Cz f R BEAT MEM IR B AR . ) B B R
KEMTHCFHE BV, &2 IR BUER EES
EAR RN A VPR B T8 RAT i . 1 M — 72 AU K. (HIENTR WHLIEE A RE, XAATR
AL DMEF 2 R A AU — IR 2. ARCEFNE A B, MYFRIA LR N\ 0T 4 5 B OR H — A RS 4H 1
MEE .
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